CCE MODE _TEST PAPER

" 'SECOND TERM (SA-I)

'MATHEMATICS -
C{With Answvers)
. CLASSX

--'--(xeneral Instructions : " .

(i) All quunons fue mmpm’mn‘- - : . L
- (if): The question paper CONSISES af 34 qucsnom a'n fdea' mro four vectmm A B Cand D. Sec mm r\ o
wmprnev of 10 quem(ms Uf I mark each, Sec !mn B mmpmea of § que.sfwm of 2 man(v eacl;. o
Section C comprises of 1 G qucmam af 3 iarks each a.fm' Se.: tion D comprises of mons of X
o inarks each. '- S o
Quemm: mm:be

ol 0in Serrmn A are re you are to select one- -
correct opn(m ouft of tie given jom : - :
-I’ht're_'is”n' memﬂ choice: However, internal choice has” been pr _fded i
‘miarks, 3 questions of threé ndrks edch and:2 quesnmrs of “four marks eac
“only one of the alternatives i all such quiestions. . - '

(v) "Use of calcidators is not permitted::

nmh’:p:’e Chowe qt{esﬂrms whe

[ quicstion of two', .
Yon have 1o attempt. .

Question numbers 1'to 10 are of one. mark cach :

o Thb th term of the sequence: H7:
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.lt ]e:iﬁt one head is

5 ! / e angle of clevation of the tower from
“hiseyes is 45" T[u, hc:ght of Ih:. lowcr lrom e ground is




14 In ﬁuurt, "ABC 19 an t,qus!'ut,rai lr:anﬂlt, Or‘a]{[f., 8'cm. A, B and C are the centres ofurr.uhr .lrc.'a_"
' L [T;I\e Tt: w“m dlld_\/__:_.! 73"} e

. of r‘:dlus 4 cm Find t!m drca of the xhddud rcglon

S 15, In figure, two circles with centres A dnd B touc.h Cdch 0[[’1(.]’ at zhu pmnl C IfAC
L »18 3 e find IIn, arc:t of lh{. S!l.ldtd rcrr:on TN o :

' 16 Solve for x

AP ::Dmdc.- IG-mm {\m-pdrtq such that: twice th squarc, of th larncr p'll'l Lxcccds- th

R t.mal]cr pdrt by l6~1 TR ' e IR s

AT VS _Thcrt. arc 40 *.tudem*; in Clasq "{ Of whon 2‘3 are l11!‘[5'.md lﬁ'arc boys. The class teacher hasto- .

_ ""&.clet,i one stuident as a ¢lass’ rt.pn,s‘emdmc Shn, writes the nanie of each student on 1 separate card, the .

o cdrds bc.mg ldcnuca] Then she pu!s cards in i ban dnd Sura lht,m lhorouzhlv Shc :hcn dravis one’ c.'1rd'

'-.._'--from the bag. : S L

' Wh'st is the pl’()h'lhllliy lim th name. WI‘I[[CI] on ihL (.ard is thc name ol

(). agirl 7. : E (u) aboy? - -

;--'-'18.  PAand PB are :'mu,nl% fror11 P to the circle \uth ccmrt, O At th pomt M at
cumnn P 1 1: K‘md PB at N Prow, lhat KN -Aﬁ + B;\ _ :

angent is drawn

Quemon nimbers 1910 28 cmn 3 marks edch.: SRRRTER -
-0 190 A bag containg 5red; 8 green and T_wh:tc bai!x Onc ba!! ls dr.twn .1t r.indom 1r0m th b.ag Fmdi -

th:. proh':blllty of getting - _ ' SRR R .
(i) a'white ball ora green ball -~ "




" green ball nor a red bq!l I S e

20 Fmd a pomt on the y-axis wh:ch is eqm{hshmt from thc pomtq A((} 5) dnd Bi= 4,

BT 21. A W hu.I has dmm:.ter 84 cm Find h(m m‘my Lomp!ctc eV oluuom nmst 1( I'd\c [0 LO er 793

‘métees.” : X : . .

I 1 Determine theA P whose 3rd lcrm is thmd WhLH 5lh tcrm:t. sublracted f'rom?thlcnn “«L ot |

- ~I230A so!rd iron FCCI:I!‘I"U!‘H‘ block of ‘dimensions 4.4 i) 2.6 m and 1'm is cast tnto’; ?

o cyhndnca! plpL of mlcrnal md:us 30 un 'md lh:c,km.q ; 3 cm. I‘:nd zhc !u:glh of l!u. plpb L
: OJ" L :

-In figure, a ‘¢ircle'is inscribed in a’quadrilz
"’9 cm and DS"'= 5 cm‘ _ d"thc radun (r) ot‘ thc urck,




270 Aower stands vertically on the ground: From a point on the ground whick is 20 m away feom=

: th:_ foot of l]!b mwc,r. l!u, .mr'k. of t_!walmn of !}n, mp ot t}n. :u\w,r is Iound o bc 60” Find the lmvhl"of AR
II'IL tower. : ' : : : o L

L 28, Draw

a nﬂht tl‘hlllfllb ABC' m whtch AC cm .md AA = ‘){}"’ me a triang (,: SI!I.'l.i].{il‘-'._

AB 4

- lo AA.BC \\l[["l its

-_Q.'fcsnou .fmmhcu_;Z)ro ?4 CUrTY., 4;::(::&.& (’ach e
29, Prove that the ler WIhS of tangent dr.mn ﬁmn .In L\ILI'HJI poml lo ‘1 LI!’L]L drt, Lqu
_ ~ Usiiig the above result, prov ¢ the foilowing
©ABC is an isosceles triangle in ‘which’ AB=AC Ll!’LUI‘['I‘xCI'!hLd 'lbnut

EE Prmc [hat the base is br.ulul hy the poml ‘of contact. -
: AL

e as’ shown o figure:

5 30.: A motor-boat; whoie spu,d is 15 kin/h in’still witter, goes "4(} Lm upslrumt 'md comes back in’
Ca loldl Im%L 0f4 hours 30 mmu{t.s Find the speed’ of the strearn -

S A shopkupu buys a numbcrbf books
' Ld(.h book \\'Ollld hdvc cosl ? E iust. Ilow md]w books dld hc buy

balloon durm" I}IL mtc vu




o ic horlmnml thmnm_ betw ecn {ha. two m\w_n is l-t(} m. Tht an"lc ation ‘of th{. Iop of iht.

ﬁnd th volumc of water um{

. Section ‘A’

(1. Height of the cone
. Surf'zcc, arca of the cubmd :
L 3 inteenally:






